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Цели
 

и
 

задачи
 

доклада

Целью
 

доклада
 

рассмотреть
 

принцип
 

мягкого
 

и
 

жесткого
 

декодирования
 блокового

 
кода. 

Для
 

достижения
 

поставленной
 

цели
 

необходимо
 

решить
 

следующие
задачи:

1) Ознакомиться
 

с
 

принципом
 

кодирования
 

блокового
 

кода;

2) Рассмотреть
 

алгоритм
 

мягкого
 

декодирования
 

Чейза;

3) Обзор
 

алгоритма
 

синдромного
 

декодирования.



Введение

Параметры
 

блокового
 

кода
 

Рида
 

–
 

Маллера
 

(16,5): 


 
скорость

 
кода

 
R = 5/16;


 

минимальное
 

кодовое
 

расстояние
 

dmin

 

= 8;


 
исправляемая

 
способность

 
t = (dmin

 

-1)/2.

Процесс
 

кодирование
 

информации:
[b2

 

(1),b2

 

(2),…,b2

 

(16)] = [b1

 

(1),b1

 

(2),…,b1

 

(5)] ×
 

G.

Проверочная
 

матрица:
G = |Ik

 

P|,
 

где
 

I[k; k] и
 

P[k; n - k];
G ×

 
HT = 0;

H =
 

|PT

 

In-k |.
Синдром:

[si

 

] = [coi

 

] ×
 

HT = ([ci

 

] [ei

 

]) ×
 

HT = [ei

 

] ×
 

HT

 

.



Алгоритм
 

Чейза

Определение

 

Т

 

наименее

 надежных

 

позиций
Генерирование

 

комбинацию

 ошибок

Сохранить

Найти

 

кодовое

 

слово

 

ci

 

, 
используя

 

декодер

 

с

 жестким

 

решением

Вычислить

 

метрику

 

и

 сохранить

 

если

 

метрика

 максимальна



Выдать

Алгоритм:

1)

2)

3) Декодируем
 

получаем

4)    
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Алгоритм
 

синдромного
 

декодирования

1)Принятую
 

комбинацию
 

co
 

= c
 

+ ei

 

умножаем
 

на
 

HT, получаем
 

синдром
[si

 

] = [coi

 

] ×
 

HT = ([ci

 

] [ei

 

]) ×
 

HT = [ei

 

] ×
 

HT

 
;

2) в
 

таблице
 

найти
 

синдром
 

si

 

и
 

определить
 

соответствующий
 

ему
вектор

 
ошибки

 
ei

 

; 

3) найденный
 

вектор
 

ошибки
 

сложить
 

по
 

модулю
 

два
 

с
 

принятой
 комбинацией:

co + ei

 

= c + ei

 

+ ei

 

= c;

4) декодируем
 

с
 

как
 

безошибочную
 

исходную
 

рабочую
 

комбинацию.


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Благодарю  за  внимание!
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